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P(Y =1)=1/3
P(X=1Y=1)=PX=2Y=1)=1/8
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3/8 Ml P(X = 3) = 1/4, [AEFHHAWMZ G5 0I5 24 51~

¥ ' 1 2 3 ;.
1 1/8  3/16  1/16 3/8
2 1/8  3/16 1/16 3/8
3 /12  1/8  1/24 1/4
D.j 1 Ix"S 1 ;"Q 1 ;"G

450



AR TSR E: £ 0.101

510.101 X HHAENETE X oY MBI B EMaBIEH A {—1,0,1}.
€. %



AR TSR E: £ 0.101

AT R EUERE AL AR B XY A BT e AT R BUE S Y {-1,0, 1}
AT
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eP(X=0Y=0)=1/4
P X=-1)=PX=1=1/4
KPX=-1Y=1)FMPY =0)MH
R
eP(X=-1)=1/4,P(X=0)=1/2,P(X =1)=1/4
PY=-1)=1/3,P(Y =0)=1/2,P(Y =1)=1/6



e egiclh YRS -—y: op i VA 2

TENX 046 X —fEZAFEMNEE (X)) 8 ELHEA f(r,y), ARk X
Ao Y ALK E B RS AN fx(x) F fyr(y), WX 5Y BRI %
S i

fz,y) = fx(x)fy(y).

Remarks:
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F(z,y) = Fx(z)Fy(y)
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flz,y) = fx(@)fyly) & Flo,y) = Fx(z)Fy(y)
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Pij
Y i %5m P(YY =y;) =p; >0, WAR
P(Y = y;) P
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Remarks:
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PX =a,Y =y;)  pij
POX =i |V =)= )2y

PY =y)  p,
FE: ZREBEIRI A 2R T X BUE R H

463



R GRS S e s KT DR e IR

PANE B BIRA MR E — AR, AR = B SR 70 A0 81 B e — Fh oAt
N, Bk A R -
o MM P(X = 2]V = ;) > 0.
o FIVEME: S P(X = 2;|Y = y;) = 1.
S HBENLAR R X MY A BT, WA

464



AR E SR E M T 5 0.104

51 0.104 —t FFEALBAT AT FH %%, & F BARAIBER A p, HHE AT 2
FFPRAREFAIE A X A TFAREPERGHFEAHR BY 2575
RSP BARGI SR RH, KR X Ao Y B9BRS ke ST

465



#RZ: 15 0.104

AH: 1 RTiR.

paa

=

o X =m B IARBWGEFHERFNET mIX,Y =n Bd kb HERSE T n ik,
X MY WIEBCE DA HN

£

pP(1—p)"? 1<m<n<o

P(X =mY =n)= f(x,y) =
0, H

o MR L BENLIA B HIIL S AT A € OIS BENLAS & X A1 Y B3 273 A 41 7 4l

5
PO = 3 PLY ¥ <) = 3 gl
n=m+1 n=m-+1

PEY =n} =Y P{X=mY¥ =n} =3 221 —p)"? = (n—1p2(l —p)"*(n > 2)
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